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 נתבונן בנקודות החיתוך

 עם הצירים:

(0,4)   (-6,0)  

4
3

2

4

3

2

6

4

)6(0

04

+=

=

==
−−
−

=

xy

b

m

 

 3שאלה 

 .50 .א

 .50 .ב

 

 4שאלה 

 

 

 5שאלה 

 שיטת ההצבה                                                                 הנגדת מקדמים
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 גרם. 7 .א
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 ס"מ 5רדיוס המעגל הקטן:  .א

  25  =2• 5 שטח המעגל הקטן:    
 ס"מ  6.5ס"מ =  5 1.3 •רדיוס המעגל הגדול: 
  42.25  =2• 6.5 שטח המעגל גדול:    

 יחס השטחים:

  25 : 42.25 = 25 : 42.25 =  100 : 169  
  25  =2• 5 שטח המעגל הקטן:     .ב

  42.25  =2• 6.5 שטח המעגל גדול:    
  42.25 - 25 = 17.25השטח האפור:     סמ"ר

 


